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Section- I

[k.M - I
1.	 Write short notes on the following:

	 fuEufyf•r ç'uksa ds y?kq mÙkj fyf•,%
(a)	 Indian Councils Act, 1909� 8

	 Hkkjrh; ifj"kn~ vf/fu;e] 1909

(b)	 Paharia Uprising� 8

	 igkfM+;k foæksg

(c)	 Swadeshi Movement� 8

	 Lons'kh vkUnksyu

(d)	 Development of Sufism in Bihar� 7 

	 fcgkj esa lwiQh erksa dk fodkl

(e)	 Manjusha Painting� 7

	 eatw"kk fp=kdyk

2.	 (a)	 “The cultural heritage of Bihar, with its rich traditions, art, and festivals, contribute vivid 
colours to India's cultural fabric-" Explain in detail.� 38

	 ¶fcgkj dh lkaLÑfrd fojklr] bldh le`¼ ijaijk,a] dyk vkSj R;kSgkj] Hkkjr ds fp=kiV esa thoar jax Hkjrs 
gSaA¸ foLrkj ls le>kb,A

Or @ vFkok

	 (b)	 Evaluate the Civil Disobedience Movement and explain its impacts on the Indian 
Freedom Struggle.� 38

	 lfou; voKk vkanksyu dk ewY;kadu djsa vkSj Hkkjrh; Lora=krk laxzke ij blds çHkkoksa dh O;k[;k djsaA

3.	 (a)	 Critically examine the contribution of great revolutionaries in the Indian freedom 
movement.� 38

	 Hkkjrh; Lok/hurk vkUnksyu esa egku Økafrdkfj;ksa ds ;ksxnku dk vkykspukRed ijh{k.k dhft,A

Or @ vFkok

	 (b)	 Discuss the development of the farmers' movement under the leadership of Swami 
Sahajanand Saraswati in Bihar and its effects.� 38

	 fcgkj esa Lokeh lgtkuan ljLorh ds usr`Ro esa fdlku vkUnksyu dk fodkl vkSj mlds çHkkoksa dh ppkZ 
dhft;sA
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Section-II

•.M&II
4.	 Answer the following questions:

	 fuEufyf•r ç'uksa ds y?kq mÙkj fyf•,%

(a)	 "The increasing reliance on suo motu jurisdiction by the Supreme Court is a sign of judicial 
overreach-" Critically evaluate this statement.� 8

	 ¶lokZsPp U;k;ky; }kjk Loçsj.kk {ks=kkf/dkj ij c<+rh fuHkZjrk U;kf;d vfrØe.k dk ladsr gSA¸ bl dFku 
dk vkykspukRed ewY;kadu djsaA

(b)	 Evaluate the role of technology in improving the transparency and efficiency of the public 
distribution system in the country.� 8

	 ns'k esa lkoZtfud forj.k ç.kkyh dh ikjnf'kZrk vkSj n{krk esa lq/kj djus esa çkS|ksfxdh dh Hkwfedk dk 
ewY;kadu dhft,A

(c)	 Discuss, how India’s participation in the International Big Cat Alliance (IBCA) reflects 
its commitment to global tiger conservation efforts.� 8

	 ppkZ dhft, fd varjkZ"Vªh; ck?k xBca/u (vkbZchlh,) esa Hkkjr dh Hkkxhnkjh oSf'od ck?k laj{k.k ç;klksa 
ds çfr mldh çfrc¼rk dks fdl çdkj n'kkZrh gSA

(d)	 Evaluate the role of the Digital India Trust Agency (DIGITA) proposed by the RBI in 
combating cyber fraud.� 7

	 RBI }kjk çLrkfor fMftVy bafM;k VªLV ,tsalh (DIGITA) dh lkbcj /ks•kdeZ dks jksdus esa Hkwfedk 
dk ewY;kadu dhft,A

(e)	 Analyse the significance of the new US-India COMPACT initiative launched during the 
recent bilateral talks.� 7

	 gky gh esa f}i{kh; okrkZ ds nkSjku 'kq: dh xbZ ubZ ;w,l&bafM;k dkWEiSDV igy ds egRo dh pkpkZ dhft,A

5.	 (a)	 Analyse the common causes and impacts of frequent stampede incidents over the 
past few years in India- Highlight the role of crowd management and infrastructure in 
preventing such tragedies. Additionally, discuss the measures that can be implemented to 
enhance public safety during large gatherings.

	 fiNys dqN o"kks± esa Hkkjr esa yxkrkj gksus okyh HkxnM+ dh ?kVukvksa ds lkekU; dkj.kksa vkSj çHkkoksa dk 
fo'ys"k.k djsaA ,slh =kklfn;ksa dks jksdus esa HkhM+ çca/u vkSj cqfu;knh <kaps dh Hkwfedk ij çdk'k MkysaA 
blds vfrfjDr] mu mik;ksa ij ppkZ djsa ftUgsa cM+h lHkkvksa ds nkSjku lkoZtfud lqj{kk c<+kus ds fy, ykxw 
fd;k tk ldrk gSA� 38

Or @ vFkok

	 (b)	 Evaluate the recent steps taken by US President Donald Trump in international relations, 
particularly focusing on his approach towards Ukraine, NATO, and European allies. 
Discuss the implications of his foreign policy decisions on global geopolitics, the 
transatlantic alliance] and the established international order. Additionally, analyse how 
these steps could create opportunities for India's role in the world.� 38

	 vesfjdh jk"Vªifr MksukYM VªEi }kjk varjkZ"Vªh; laca/ksa esa gky gh esa mBk, x, dneksa dk ewY;kadu dhft,] 
fo'ks"k :i ls ;wØsu] ukVks vkSj ;wjksih; lg;ksfx;ksa ds çfr muds n`f"Vdks.k ij è;ku dsafær dhft,A oSf'od 
Hkw&jktuhfr] VªkUlkVykafVd xBca/u vkSj LFkkfir varjkZ"Vªh; O;oLFkk ij muds fons'k uhfr fu.kZ;ksa ds fufgrkFkks± 
ij ppkZ djsaA blds vfrfjDr] fo'ys"k.k djsa fd ;s dne nqfu;k esa Hkkjr dh Hkwfedk ds fy, dSls volj 
iSnk dj ldrs gSaA� 38
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6.	 (a)	 Analyse the implications of the implementation of the National Education Policy (NEP) 
2020 on India's education system. Discuss the potential benefits and challenges of the 
policy, and its impact on access to quality education, curriculum changes, and the role of 
technology in education.� (19 + 19 = 38)

	 Hkkjr dh f'k{kk ç.kkyh ij jk"Vªh; f'k{kk uhfr (,ubZih) 2020 ds dk;kZUo;u ds fufgrkFkks± dk fo'ys"k.k 
djsaA uhfr ds laHkkfor ykHkksa vkSj pqukSfr;ksa] xq.koÙkkiw.kZ f'k{kk rd igq¡p] ikBÔØe esa cnyko vkSj f'k{kk esa 

çkS|ksfxdh dh Hkwfedk ij blds çHkko ij ppkZ djsaA� (19 + 19 = 38)

Or @ vFkok

	 (b)	 Discuss the relevance of the recent milestone of 100th missions by ISRO- Highlight the 
major missions that contributed to this achievement. Analyse the technological advance-
ments made by ISRO in reaching here, the challenges faced and its impact on India's 
space exploration and satellite technology.� 38

	 ISRO }kjk gky gh esa 100 fe'ku iwjs djus dh miyfC/ dh çklafxdrk ij ppkZ djsaA bl mi-
yfC/ esa ;ksxnku nsus okys çeq• fe'kuksa ij çdk'k MkysaA ISRO }kjk ;gk¡ rd igq¡pus esa dh xbZ 
rduhdh çxfr] lkeus vkbZ pqukSfr;ksa vkSj Hkkjr ds varfj{k vUos"k.k vkSj mixzg çkS|ksfxdh ij 

blds çHkko dk fo'ys"k.k djsaA� 38

Section-III

•.M&III
7.	 Study the following bar graph carefully and answer the questions given below: 
	 The column graph given below shows the production of wheat and rice (in million tonnes) in 

India from 2015 to 2020.

Column Graph: Wheat and Rice Production (2015-2020)

Wheat Production (Million Tonne) Rice Production (Million Tonne)

	 uhps fn;k x;k dkWye xzkiQ] 2015 ls 2020 ds chp Hkkjr esa xsgwa vkSj /ku ds mRiknu (fefy;u Vu esa) dk 

çn'kZu djrk gSA bl xzkiQ dk vè;;u djsa vkSj fn, x, ç'uksa dk mÙkj nsa%
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dkWye xzkiQ% xsgwa vkSj /ku mRiknu (2015&2020)

	
(a)	 What was the percentage increase in the production of wheat and rice between 2015 and 

2020? 									�          (8)

	 2015 ls 2020 ds chp xsgwa vkSj /ku ds mRiknu esa fdrus çfr'kr dh o`f¼ gqbZ\

(b)	 What was the average annual growth rate of wheat production between 2017 and 2019?                  
� (8)

	 o"kZ 2017 ls 2019 ds chp xsgwa mRiknu dh vkSlr okf"kZd o`f¼ nj D;k jgh\

(c)	 Which was the year when the difference between the production of wheat and rice was the 
highest? Calculate this difference.                                                                                                          (8)

	 dkSu lk o"kZ ,slk Fkk tc xsgwa vkSj /ku ds mRiknu esa lcls vf/d varj Fkk\ bl varj dh x.kuk djsaA

(d)	 If the production of wheat and rice increased by 4% and 3% respectively in 2021, then 
what would be their production?� (6)

	 ;fn 2021 esa xsgwa vkSj /ku ds mRiknu esa Øe'k% 4» vkSj 3» dh o`f¼ gqbZ gks] rks mudk mRiknu D;k gksxk\

(e)	 What conclusion can be drawn regarding India’s food security based on the above data?� (6)

	 mijksDr MsVk ds vk/kj ij Hkkjr dh •k| lqj{kk ds lanHkZ esa D;k fu"d"kZ fudkyk tk ldrk gS\

Or @ vFkok

	 The graphs given below show the annual profits (in crores of rupees) of ABC Private Ltd. 
and XYZ Private Ltd. From 2015 to 2020. Analyze the graphs and answer the following 
questions:

	

Annual Profit (Rs. in crores)
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	 uhps fn, x, js•kfp=kksa esa ABC çkbosV fyfeVsM vkSj XYZ çkbosV fyfeVsM dh 2015 ls 2020 rd dh 
okf"kZd ykHk (djksM+ #i;s esa) n'kkZbZ xbZ gSA js•kfp=kksa dk fo'ys"k.k djds fuEufyf•r ç'uksa ds mÙkj nsa

	

ok£"kd ykHk (djksM+ jQi;s esa)

(a)	 Calculate the compound annual growth rate (CAGR) of the profits of both the companies 
between 2015 and 2020. � (8)

	 2015 ls 2020 ds chp nksuksa daifu;ksa ds ykHk dh pØo`f¼ okf"kZd o`f¼ nj (CAGR) dh x.kuk djsaA

(b)	 In which year was the difference in the profits of the two Companies maximum?� (6)

	 fdl o"kZ nksuksa daifu;ksa ds ykHk esa varj vf/dre Fkk\

(c)	 If both the companies want to achieve a profit of    80 crores by 2025, calculate the annual 
growth rate required for each company from 2020.� (8)

	 ;fn nksuksa daifu;k¡ 2025 rd ` 80 djksM+ dk ykHk çkIr djuk pkgrh gSa] rks 2020 ls çR;sd daiuh ds 
fy, vko';d okf"kZd o`f¼ nj dh x.kuk djsaA

(d)	 Analyse the profit trends of both the companies and discuss any obvious patterns or 
anomalies. � (6)

	 nksuksa daifu;ksa ds ykHk ds #>kuksa dk fo'ys"k.k djsa vkSj fdlh Hkh Li"V iSVuZ ;k folaxfr;ksa ij ppkZ djsaA

(e)	 Assuming that the operating expenses of ABC Ltd and XYZ Private Ltd in 2020 were ₹ 40 
crores and ` 42 crores respectively, calculate the profit margin of both the companies in 
that year.  		�   (8)

	 eku ysa fd 2020 esa ABC fyfeVsM vkSj XYZ çkbosV fyfeVsM ds ifjpkyu •pZ Øe'k% ` 40 djksM+ 
vkSj ` 42 djksM+ Fks] rks ml o"kZ nksuksa daifu;ksa ds ykHk ekftZu dh x.kuk djsaA

8.	 The pie charts given below show the percentage distribution of total production of different 
agricultural products (wheat, rice, maize, pulses, and others) of a state in two different years, 
2022 and 2024. The total production was 550 million tons in 2022 and 650 million tons in 
2024. 
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	 uhps fn, x, ikbZ pkVZ nks vyx&vyx o"kks±] 2022 vkSj 2024] esa ,d jkT; ds fofHkUu Ñf"k mRiknksa (xsgwa] /ku] 
eDdk] nkysa vkSj vU;) ds dqy mRiknu ds çfr'kr forj.k dks n'kkZrs gSaA dqy mRiknu 2022 esa 550 fefy;u Vu 
vkSj 2024 esa 650 fefy;u Vu FkkA fn, x, vk¡dM+ksa ds vk/kj ij fuEufyf•r ç'uksa ds mÙkj nhft,

	

o"kZ 2022 esa Ñf"k mRiknu dk izfr'kr forj.k o"kZ 2024 esa Ñf"k mRiknu dk izfr'kr forj.k
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	 Answer the following questions based on the given data:

	 fuEufyf•r ç'uksa ds mÙkj nhft,
(a)	 What was the increase in the production of wheat in the year 2022 and 2024?� (7)

	 o"kZ 2022 vkSj 2024 esa xsgwa ds mRiknu dh ek=kk esa fdruh o`f¼ gqbZ\
(b)	 How many million tonnes did the production of maize increase in 2024 as compared to 2022?       

� (7)
o"kZ 2022 dh rqyuk esa 2024 esa eDdk dk mRiknu fdrus fefy;u Vu c<+k\

(c)	 What was the production of agricultural products falling under the ‘other’ category in the year 
2024?� (7)
o"kZ 2024 esa ^vU;* Js.kh ds varxZr vkus okys Ñf"k mRiknksa dk mRiknu fdrus fefy;u Vu Fkk\

(d)	 Was there any change in the production of pulses in the year 2022 and 2024? Explain.� (7)
o"kZ 2022 vkSj 2024 esa nkyksa ds mRiknu esa D;k dksbZ ifjorZu gqvk\ Li"V djsaA

(e)	 Comparing the production of rice in the year 2022 and 2024, tell how much percentage increase 
or decrease was there in it?�  (8)

	 o"kZ 2022 vkSj 2024 esa /ku ds mRiknu dh rqyuk djrs gq, crkb, fd blesa fdrus çfr'kr dh o`f¼ ;k deh gqbZ\

Or @ vFkok

	 The bar graph given below shows the production (in lakh units) of three major car companies: 
Maruti, Hyundai, and Tata in India for the year of 2019, 2022, and 2024. Answer the following 
questions using the graph.

	

Production (in lakh units)
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	 uhps fn, x, ckj xzkiQ esa o"kZ 2019] 2022 vkSj 2024 esa rhu çeq• dkj daifu;ksa (Maruti, Hyundai, Tata) 
ds Hkkjr esa mRiknu (yk• ;wfuV esa) dks n'kkZ;k x;k gSA xzkiQ dk mi;ksx djds fuEufyf•r ç'uksa ds mÙkj nsa
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(a)	 Which company’s production increased the most between 2019 and 2024?� (7)

2019 ls 2024 ds chp fdl daiuh ds mRiknu esa lcls vf/d o`f¼ gqbZ\

(b)	 What is the percentage increase in Hyundai’s production in 2024 as compared to 2022?� (7)

2022 dh rqyuk esa 2024 esa Hyundai ds mRiknu esa fdrus çfr'kr dh o`f¼ gqbZ\

(c)	 What is the percentage increase in Hyundai’s production in 2024 as compared to 2022?� (7)

2022 dh rqyuk esa 2024 esa Hyundai ds mRiknu esa fdrus çfr'kr dh o`f¼ gqbZ\

(d)	 If Maruti’s production increases by 10% in 2025, what will be its new production?� (8)

;fn 2025 esa Maruti ds mRiknu esa 10» o`f¼ gks] rks mldk u;k mRiknu fdruk gksxk\

(e)	 Which company’s production remained the most stable between 2019, 2022 and 2024?� (7)

2019] 2022 vkSj 2024 ds chp fdl daiuh dk mRiknu lcls vf/d fLFkj jgk\


